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121. Thermal effect is used for producing deflecting torque
is:

{1} Voltmeter {2} Ammeter
{3} Waltmater {4} Energy meter
122 Forincreasing the range of voltmeter, one should connect a:

{1} High value resistance in series with volimedar
{2} Low value resistance in senes with voltmeter
{3} High value resistance in parallel with voltmater
(4} Low valuee resistance in parallel with voltmeter

123. For testing the earth fault of an electric iron, the
reading of the megger is infinity. This indicates:

{1} Short circuit of the heating element.

{2} Short circuit of the supply terminal.

{3} Loose terminal connections.

(4} Open circuit of the heating elemant.

124. Electrostatic  instruments suitable for the

measurement of:

{1} ac and dc voltages
{2} ac voltage and current
{3} dc woltage and current
(4} acand dc currents

Schering bridge is used to measure:
{1} Dielectric loss

{2} The inductance

(3} Low resistance

(4} Mutual inductance

are

125.

126. The armature winding of a turbo altemator is normally
placed deeper in slots. This is done to:

{1} Increase the leakage reactance of the winding

{2} Increase the mechanical sirength of the winding

{3} Prowide the required insulation level

{4} Improve the cooling of the wanding

127. In & star connected, neutral grounded, synchronous
generator 3™ and 5" harmonic components are absent
in line to line voltage. This is achieved by short

pitching the armature coils by an angle of:

{1} 60° {2) 3g*
{3y 3® (4) 48*
128. During hunting of a synchronous motor:

{1} Megalive sequence curments are generated.

{2} Harmonics are developed in the armature carcuit.
{3} Damper bars develop forgue

(4} Field excitation increases.

120. Armature shunting method of speed control of dec
shunt motor is preferred over armature resistance
method due to:

{1} Better speed regulation

{2} Less loss in external resistance

{3} Simplicity in conirol circut

{4} Reduced cost of controller
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130.

131.

A DC shunt motor is running at 1200 rpm, when
excited with 220V dc. Meglecting the losses and
saturation, the speed of the motor when connected to
a 175 ¥ supply is:

{1} 70 rpm

{2} 900 rpm

{3} 1050 rpm

{4} 1200 rpm

Distribution transformers have core losses:

{1} More than full load copper losses

{2} Equal to full load copper losses

{3} Less than full load copper losses

{4} Megligible compared o full load copper losses.

132 Hollow conductors are used in the transmission lines to:

133.

134.

135

{1} Improve heat dissipation
{2} Reduce corona loss

{3} Reduce skin effect

(4} Reduce the line inductance

For the grounding of an entire sub—station:
{1} Counterpoises are usad

{2} Grounding rods ane used

{3} Grounding mats are used

{4} Peterson coil is used

A semiconductor is electrically neutral because it has:
{1} Mo majority camier

{2} Mo minority camer

{3} Mo free charges

{4} Egual number of negative and positive charges.

A circuit requires a capacitor of 100pf, 25V. The
capacitor can be:

{1} Paper capacitor

{2} Electrolyic capacitor

{3} Ceramic capacitor

{4} Any type of capacitor

136. The purpose of a coupling capacitor in an amplifier is to:

137.

138.

{1} Control the output

{2} Provide impedance matching

{3} Prowide DC isolation between amplifier and load
(4} Increase the bandwdth

I the delay introduced by ome inwerter gate is t sec
then the time period of the output V, of the following
circuit would be:

e {5 >

{1} 3 (2} G

{3} Zem (4] 2

The addressing mode used in STAX B instruction is:
{1} Direct addressing mode

{2} Indirect addressing mode

{3} Implied addressing mode

(4} Register addressing mode
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130,

140.

141.

142.

143

144,

145.

146.

147.

148.

An SCR is turned off when:

{1} Gate voltage is reduced to zero

(2} Gate current is reduced below holding cument
{3} Anode current is reduced below latching current
(4} Anode current is reduced below holding current

A chopper is connected in parallel with a fized
resistance to control the speed of slip ring induction
motor. The motor speed increases as:

{1} The chopper duty cycle decreases

{2} The chopper duty cycle increases

{3} The chopper frequency increases

(4} The chopper frequency decreases

The type—2 system has:
{1} Mo net pole at origin

{2} Met pole at origin

{3} Simple pole at the origin
{4} Two poles at the ongin.

Sinusoidal oscillators are:

{1} Stable {2} Unstable
{3} Marginally stabls {4} Conditionally stable

A series inductor is nommally added in a thyrister
circuit for achieving protection against:

{1} High current {2} High woltage

{3) High af¥at (4} High it

Vi is maintained constant in the following case of
speed control of induction motor:

{1} Below base speed with woltage contnod

{2) Below base speed with frequency control

{3} Above base speed with frequency control

{4} Mone of the above

The resultant flux density in the air gap of a
synchronous generator is the lowest during:

{1} Open circuit {2} Siold sheori circuit

{3} Full load {4} Half load

The hysteresis Motor:
{1} Has a D.C. winding on the robor
{2} Rotor is made out of hard magnetic material

{3} Has squirmel-cagpe winding on the rotor
{4} s not-self starting

An ideal amplifier has:

{1} Zeroinput resistance and zero output resistance

{2} Infinite input resistance and zero output resistance
(3} Zeroinput resistance and infinite output resistance
{4} Infinite input resistance and infinite cutput resistance

Phase relays are usad to provide protection against:
{1} Single phase to grownd Fault only

{2} Double phase to ground fault only

{3} Phase faults involving two and more phases

(4} Three phase fault only
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147.
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150.

151.

152

153.

154.

155.

156.

157.

A J-phase delta connected motor is supplied at a line
voltage of 400 V, the voltage across each winding of
the motor will be:

(1) 400V {2) 200V
{3y 100V (4} 300V
Maxwell Bridge is used for the measurement of:

{2} Induciance
(4} Capacitance
In & star- star connected transformer:

{1} Line voltage is equal o phase voltage
{2} Line voltage is equal io +3 phase voltage
{3} There & no line current

(4} There flows no phase current

{1} Frequency
(3} Resistance

A synchronous motor working on leading power factor
and not driving any mechanical is known as:

{1} Synchronous induction motor (2] Spinning molor
(3} Synchronous condenser (4) Mone of these

A6 pole Lap wound dc generator has 300 conductors.
Emf induced per conductor is 5 wolt. This generator
will generate emf of:

{1} B0 volt {2} 300 volt
{3y 250 volt {4} 1800 volt
In & 3-phase induction motor, maximum torgue is

obtained at starting if:

{1} Rotor resistance = Rolor reactance
{2} Rolor resistance < Rolor reactance
{3} Rotor resistance *Rolor reactance

(4} Rotor resistance = Stator reactance

Ferranti effect in a transmission leads to which of the
following conclusion:

{1} Receiving end voltage & less than sending end voltage
(2} Receiving end voltage is equal io sending end voliage
{3} Recetang end voltage is mors than sending end voltage
(4} Recsiving end vollage i equal o half of sending end voltage
In the figure A and B are two semiconductor diodes.

&

rD:j mj

Which of the following statement is true:

{1} A and B are forward biased

(2} A is forward biased and B is reverse biased
{3} Aand B are reverse biased

{4} A is reverse biased and B is foreard biased
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158,

160.

161.

Please refer figure showing oil pot with electrodes
used for testing dielectric strength of transformer il
The gap between two electrodes is 4 mm and the pot
is filled with oil.

—= r.(_— Lymin
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i
i

E Fitamole
o] POt

The pot is placed in the oil testing kit and it is
observed that breakdown occurs at 16KV. The
dielectric strength of oil is:

{1} 16K em {2} 0 K\iem

(3} 40KMicm (4) S0KVicm

Three equal resistances, each of B £1 are connected in
star, their corresponding value of each resistance in
delta connection will be:
i1 26

(3) 18a

In a transformer copper losses at full-load and unity
power factor are B00 W. The copper losses at full load
and at 0.8 power factor lagging will be:

(1} 400w {2} 640W

{3y 800W (4} 200 W

A de shunt generator, whose generated emf is 220 V is
supplying a load at 210 V. i the resistance of the
armature circuit is 0.5 02, the armature current will ba:
{1} 220 A {2) 105 A

{3y 20A {4} None of thesa

2} 120
(4} Mone of these

162 In a balanced 3 § supply system, the vector sum of the

163.

164.

165

three-phase emfs at any instant is equal to:
{1} Phase voltage

{2} Line voltage

{3} Zem

(4} Madmum value

A three-Phase synchronous motor has been provided
with damper winding. It can be started as a:

{1} Single-phase synchronouws motor

{2} Three-phase squirrel cage induchon molor

{3} Single-phase induction mokor

(4} Three-phasa altermator

The iron losses in a 100 kvA transformer are 1 kw and
the full load copper losses are 2 kw, then maximum
efficiency occurs at a load of:

{1} 1002 kvi {2} 1002

{3 50 kA {4} Mone of thesse

if there are repeated roots of the characteristic
equation on the jw—axis, the system would be:

{1} Conditionally stable

(2} Oscillatory

{3} Stable

(4} Unstable
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166,

167.

168.

168.

170,

1.

1T

173

174

For a feedback system having the characteristic
equation:

K
R T

The angles of the straight line asymptotes of the root
locus with the real axis, are given by

{1} 30¢, BD®, 180 {2} 30¢, 180, 00

{3} 60°, 1B0°, 300" (4} 30°, 607, 120

The transfer function of a compensating network is
given as:

G (shm——
E+p

When |z|<|p|. the network is called the

{1) Phaselag network

{2) Phase—ead network

(3] Phase lag-lead network

{4) Phase shiting nebwork

The expression given below is the impulse response
of a feed-back control system c(tj=e""* sin 0.3t The
damping ratio and natural frequency of oscillations
are, respectively, given by:

{1} 0.6.1 redisec {2} 0.8, 0.6 rad’sec

{3} 1. 0.6 rad/sac (4} 1, 0.B radisec

A first order instrument has a time constant of 50 sec.
It is subjected to a sinusoidal input cycling at 0.002Hz.
The time lag will now be:

{1} 500 sec
(3) 446sec

{2} 50sec
(4} 1 m-sec

FET is advantageous in comparison with BJT because
of its:

{1} High input impedance

{2} High noise

{3} High gain—bandwidih product

{4} Current controded behawiowr

In a transistor, leakage current mainly depends on:
{1} Doping of base {2} Size of emitier
{3} Rating of transistor (4} Temperature

For a Schmitt trigger, the upper and lower irip voltages
are 3V and 1V, and high and low states are 15V and 2V.
The output for a sinuscidal input of 10V peak will lie
between:

{1} 1V and 3V {2} 2V and 13V

{3} 3V and 15V {4) 10V and 15V

The resolution of a 12 bit VA converter using a binary
ladder with +10V as the full scale cutput will be:

{1} 5.12mv (2) 4.32mV
{3} 3.50mV (4) 244my

The sag of a transmission line with 50m span is 1m.
What will be the sag if the height of the transmission
line is increased by 20%7
{1} 2m

{3} 1.2m

{2) 1.25m
(4} 1m
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177.

178.

178,

180.

181.

182.

1B3.

The pulse transformer in thyristor circuits is used for:
{1} Amplification of gate signal

(2} Attenuation of gate signal

{3} Isolation of gate signal from power circust

(4} Fast turn on of thyristor

The presence of source inductance in line
commutated thyristor converters effectively leads to:
{1} Increase in output dc voltage

{2} Reduction in the load cument ripples

{3} Increase in the load cument ripple

{4} Reduction in output dc voltage

Which one of the following frequency conwerter is
most preferred method for speed control of medium
power rating, three-phase, squirrel cage induction
motor:

{1} Current source inverter

{2} Voltage source inverter

{3} Parallal imerter

(4} Cydioconveriar

In a three-phase, fully controlled thyristor converter
with continuous dc load current. the number of
thyristors conduct during commutation:

{1} Mone {2} One
{3} Two (%) Thres
For a single-phase, AC voltage contraller feeding pure

inductive load, the range of firing angle of each
thyristor is:

{1} 0°io 360° (2} 0 1o 180°
(3} 0° o Dpe {4) 90° o 180°
In a single-phase induction motor, the maximum

starting torque is developed:

{1} Shaded pole construction

{2} Capacitor start

{3} Capacitor start and capacitor run
(4) Repulsion start

In a three-phase wvariable reluctance type stepper
maotor, stator consist 12 poles and rotor has B poles.
The step angle will be:

{1} 30° {2) 450
{3 13 (4) 10=
A three-phase induction motor has B poles and

operates with a slip of 0.05 for a certain load. The speed
of the rotor magnetic field with respect to stator is:

{1} 855 rpm {2} 45 rpm
{3) 900 rpm {4} Orpm
A dc shunt motor is running at rated speed with rated

supply woltage. If the supply voltage is reduced to hailf,
then the speed of the motor becomes:

{1} Half of the rated speed

{2} Double of the rated speed

{3} Slightly bess than the rated spesd

(4} Slightly more than the raled speed
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1890,

101.

Starting torque of a three-phase squirrel cage
induction motor at rated voltage is:

{1} The raied torque

{2} 50% to 100% of the rated torgque

{3} 41to T times of the rated torque

{4} 1 to 3 times of the rated torque

A resistance R is connected in parallel with a parallel
combination of a 20mH inductance and a S50pF
capacitance. For what walue of R will the circuit be
critically damped:

{1} 502 2} 10

{3} 100 (2] 100

An overexcited synchronous motor is connected
across 8 100 kVA inductive load having a 0.8 lagging
power factor. The motor takes 10kW input power while
idling (mo load). If the metor is not to carry any load,
the value of kWA rating of the motor, if it is desired o
bring the overall power factor to unity, is:

(1) 70 kVA {2} 60.BkVa

{3} 68 kVa {4} 50 kVA

A heating element of a hot plate, on an electric
cooking range, draws 12A from 240V supply. How
many kWh of energy will be consumed in one hour
and 15 minutes:

{1y 1.2 {2) 36

{3} 6.0 (4} 7.2

Three equal resistors connected in series, across a
source of emf, dissipate 10W of power. What would be
the power dissipated when they are connected in
parallel across the same source:

{1} 100 (2) 30W

(3) oOW (4} 2T0W

The voltage distribution across the insulating string of
high voltage line is made uniform by:

{1} Increasing the number of discs

{2} Decreasing the number of discs

{3} Using the guard rings

{4} Increasing the size of disc

For dc shunt motor, speed control by armature
resistance variation is best suited for:

{1} Constant power drive

{2} Constant torque drive

{3} Variable lorque and variable power drive

(4} Mone of the above

In & double cage induction motor:

{1} The outer cage has higher resistance and lower
inductance as compared to mner cage

The outer cage has higher resistance and inductance
as compared to inner cage

The outer cage has lower resistance and inductance
as compared to inner cage

The outer cage has lower resistance and higher
inductance as compared lo inner cage.

2}
{3}

(4}
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201.

Buchholz relay is:

{1} Voltage sensitive device

{2} A current sensitive device
{3} A frequency sensitive device
(4} A gas actuated device

According to double revolving field theory, a single
phase induction motor can be considered as
equivalent to two hypothetical constituent motors. If
the slip of one of these motors is *s". the slip of the
sacond will be:

(1) = 2} 2s

{3} 2-8 {4} 1-=8

An B-Mhz TTL signal with 20% duty cycle clocks a 5-bit
ripple counter. What is the clock frequency of the last
flip flop and the duty cycle of its output waveform?:

{1} 500 KHz and 20% {2} 250 KHz and 50%

(3} 500 KHz and 50% {4} 250 KHz and 20%

In a junction transistor, the doping level of collector
region is:

{1} Higher than emilter region

{2} Lower than base region

{3} ks higher than base region but lower than emitter region

(4} Independent of the doping of base and emifter regions

The best location of DC operating point in an amplifier
for undistorted output is:

{1} Mear saturation

{2} Mear cut-off region

{3} In the middle of the active region

(4} Any whera in the cut off region.

A dynamic memory stores its data in:
{1} Flip- flops {2} Inductors
{3} Capacitors (4} Registers.

In a dual converter operating under circulating current
maode:

{1} Only one converier operates at a time

{2) Both operate as rectfier

{3} Both operate as inverter

{4} One converter acts as rectifier and other &s inverter

In & semi-controlled bridge rectifier, the power flow is:
{1} From load to the source {2) From source to load
(3} Both directions {4} Mot possible

The meter that is suitable for only direct current
measurement is:

{1} Moving iron type

{2} Permanent magnat type

{3} Electro-dynamic type

(4} Hot-wire type

Two complete signal cycles would be displayed on the
screen of a scope 'uhan time period of the sweep
generator is ............]
{1} Half

{3} Equal

{2} Twice
{4} Mone of the above

102.
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185.
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202 The Fourier Series of an even periedic function contains:

207.

200,

{1} Sine terms only

(2} Cosine terms only

{3} Both sine and cosine terms

(4} Alternate sine and cosine lerms

A ramp voltage, vt} = 100.t. is applied to an R-C series
circuit with R = 5 k) and © = 4 pF. The current
through the circuit as t = = is:

{1} 200 mA {2} 20 mA
{3} 4 mA {4) 0.4 mA
The equivalent inductance between X-X' in the circuit

given below is:
2h

T l
ﬂ .
LR

(1) G6/5 (2) 32
3y 127 (4} 2
The main difference between the drift and diffusion

mechanisms of current flow in a transistor is that:

{1} The drift current flows due to forward bias while
diffusion current is due to reverse bias

{2} The drift curent flows due to reverse bias while
diffusion current is due to forward bias

{3} The drft cument depends on concentration gradient
while diffusion current depends on eleciric field

(4} The drift current depends on eleciric field whis
diffusion current depends on concentration gradisnt

A compiler produces which of the following cutput:

{1} An execulsble file {2} Anobject file
{3} A com file (4} A source file

In frequency modulation the:

{1} Carrier amplitude varies according 1o signal amplitede
(2} Carrier amplitude varies acconding to signal frequency
{3} Carrier frequency vanes acconding to signal ampltude
(4} Carrier frequency vanes acconding to signal frequency

Which one of the following s not a common
application of a Wien bridge?

{1} Frequency determining network in an oscillator

(2} Measurement of inductance

(3} Harmaonic distorion analyzer

{4} Measurement of frequency

Two sinusoidal signals of frequencies f, and f; are
applied to the horizontal and wvertical inputs
respectively of a cathode ray oscilloscope. The display
is as shown below. The ratio f./f; is:

)
\%’

{1} 25
{3 15

(7 52
4} 5

02,
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210.

211.

213.

214.

216.

217.

The presence of dc link inductance in line commutated
thyristor converters effectively leads to:

{1} Increase in oulput dc voltage

{2} Reduction in the load cument ripples

{3} Increase in the load cument nppls

(4} Reduction in output do voltage

The pulse width medulation technigue is used in:
{1} Cydoconwerier

{2} Line commutated inverier

{3} ac voltage controller

(4} Voltage source inverier

In medium power rating wvoltage source imverter, the
best dewice to be used is:

{1} Thyristor

{2} Triac

{3} IGET

(4} MOSFET

In & 3-phase phase ac system, any unbalanced load
can be converted to:

{1} Balanced load wsing induchors

{2} Balanced load wsing capaciors

{3} Balanced load using resislors and capadiors

(4} Balanced load using inductors and capacitors

The creeping is observed in:
{1} Ammeater meter {2} Watimeter
{3} Energy mater {4} Voltmsier

The negative feedback in a control system offers:
{1} Always stable system

(2} Always unstable system

{3} Oscillatory system

(4} Conditionally stable system

3-phase AC system is preferred compared to single-
phase AC system because of:

{1} High number of conductors

(2} Easy control

{3} High efficiency

(4} Smaller number of components

The earthing transformer is used:

{1} To avoid the harmonics in the transformers

{2} To provide artificial neutral earthing where the neutral
paints of the 3-phase system are not accessible

{3} To improve the current capacity of neuiral

(4} To increase the neutral current o ground in case of
fault

In EHV sub-stations isolation switches are used in

series with the circuit breakers:

{1} Toensure fast isolation during faults

{2) To reduce the probability of circut breaker nof
opening

{3} To provide visible physical isolation of an open carcuit

(4} To open quickly to interrupt & fault and present
arching in the circuit breaker
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218.

.

222,

223

224.

225.

. The bundle conductors are

The size of a feeder is determined primarily by:
{1} The cument it is bo carmy

{2) The percentage wariation of voltage in the feeder
{3) The voliage across fwe feeder

{4) The distance over which the transmission is made

preferred in EHV
transmission [ines because:

{1} & is easy to fabncalte thin conduciors and combine
them to make a bundle conductor

Orwerall nductance of the line is reduced and corona
loss are minimum

Height of the tower s reduced and hence cheap
transmission lines

There is no sag in the transmission fine when bundie
conductors are used

(2}
{3}
(4}

The maximum efficiency of a 3-phase transformer will

occur at a loading at which:

{1} There are no iron losses and copper losses

{2) tron losses are 43_ times the copper losses

{3} ¥hen the voltage on primary and secondary terminals
is rated valpe and the currents are in proportion of 3:1
in sacondary and primary sides

(4] When the iron losses are equal o the copper losses

Harmmonic restraint in  differential protection for

transformers is provided to prevent mal-operation

caused due to:

{1} Magnelizing in-rush cument

{2} Unmatched CT current imbalance

{3} Demagnetizing flux

{4} Voltage imbalance during faults as detected by
W Ts connected

The rotor slots are usually given a slight shew in the
squimel cage induction motor:

{1} To increase the tensile strength of the rofor bars at
high speed

To reduce the locking fendency of the robor and
reduce hum

To prevent rotating in the reverse direction

To save copper used and is easier and economical o
fabricate

{2}

{3)
4}

The iron loss of a transformer connected to a variable
load on the secondary is:

{1} Varying with the load

{2} equalto 1442 tmes the copper losses

{3} Constant throughout and independent of the lead

{4} 43 /2 times the full load loss

Two resistances R1 and R2 have a combined
resistance of 4.5 ohms when in series and 1 ohm when
in paraliel. The resistances R1 and R2 are:

{1} 3 and 6 ohms

{2} 3 and 9 ohms

{3} 1.5and 3 ohms

{4} 1.5and 0.5 chms
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226.

227,

231

232

Thyristor is a:

{1} Current operated device
{2} Voltage operated dewice
{3} Power operated device
(4} All the above

The inverse time characteristics. out of the
characteristics shown below is:

(1 1
(3 3

2) 2
(4} 4

. Protection scheme of a motor feeder consisis of an

inverse time relay with following characteristics:

Plug Setting Multiplier 2 5 10

Time in seconds 10 43 3

If the CT ratic is 2001, adopted plug setting is 0.8 Amp
and Time Multiplier setting is 0.2, then for a fault current
of 1600 Amps. the operating time of relay will be:

{1} 43sec {2} 3.0sec

{3} O6sec {4} 0.3 sec

. When the generater stator newtral is earthed through a

distribution transformer, the earth fault protection is

operative through:

{1} An under-voltage relay connected across the
sacondary of the transformer

{2} An over-voltage relay connected across the secondary
of the transformer

{3} An over-cument relay connected in the transformer
sacondary

(4) Distance relay sel io protect 30% phase winding of the
generator

The short-circuit secondary current of the transformer
with 4% reactance during normal operations would be:
(1) 25 times the rated cument

(2] 40 times the rabed cumant

(3) 400 fimes the rated curent

(4) 250 fimes the rated cument

If the charging reactance of a line of 100 km length is
750 [ then what will be the charging reactance for 50
km length of the line?

{1} 1500 2 {2) 7500

{3) 3000 {4} 3750

At resonance in & parallel RLC circuit, the source
curmrent and the inductor current are:

{1} Inphase

(2} 45 degrees out of phase

{3} 90 degrees out of phase

(4} 180 degrees out of phase
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233. The knee point of a current transformer is defined as:

{1} 10% increase in excitgtion wvoflage results in 50%
increase in magnetisng cument
50% increase in exciston woltage results in 10%
increase in magnetising cument
10% decrease in excitation vollage results in 25%
increase in magnetising cument
50% increase in excilation voltage results in no
change in magneatising currant

2y
{3)
(4)

234. One kilowatt-hour of electrical energy is the same as:

(1} 36x10°eng {2) 3Ex10° BT
{3) 36x10° CHU. (4] 36x10° joude

235. Which of the following material is not used as fuse
material:
{1} Aluminum {2} Tin
{3} Lead (4} Carbon
236. Which of the following material is MOT & semiconductor?
{1} Silica {2) Gemmanium
{3} Selenium {4} Gallium—Arsenide
237. The driving point impedance for the network shown
below is:
{1} 0250 {2} 0.500
{3} 0750 {4} 1042
10 (])u.nl
2318. The resonance frequency for the network shown
below is:
1 ]
- 2 -
{3) qi ) 2
__;,. MK ~

— e

230. Neutral Displacement voltage ocours in:
{1} Unbalanced delta connecled loads.

{2} Unbalanced star connected ioads with neutral grounded
{3} Balanced star connecied koads with neutral grounded.
(4} Unbalanced star connected lnads wih ungrounded newtral

. Which of the following is INCORRECT about semi—
conductors:

{1}
(2}

The donor energy level lies close o the bottom of
conduction band in n-type semi—conducior.

The holes in the valance band have negatve effective
IMEES,

The energy levels inside 8 band are quasicontinuous
and equally spaced

The density of siates at energy E near the bobliom
conduction band (Ec) can be regarded to vary as
E-E M

{3}

(4}
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